’ ’ [ [
+ V- 3+4l, 9, l2 + 1

@1; 7 7 7 7




]./R]

7t EHES

3) 3

Sh= A% g o]

@ 4

&

3 5



ol

® 3

10 | e

™ e



SA (4 +i)x + 2+ 2i =2+ 55 WHEA 7= A5 x, yol diste
X+ 2y4%}:g{7(ﬂ'l—‘/__1)

@D -5 @ -3 ® 0 @ 5 ® 3



344i L
1+3i = ¢

i=v-1)

D 2

+bi O E2 U A o, a-b 9] 27 (



-o]lIH

29
2o gre
+



7.

z=141i

D 1+

0]
=

), % o) Zre (R, i= V=12

@ 1-i 3 1 @ i






ol

)

P4 kx? —x— (k+7) =09

xof tigt o]

N



=00°] T

X -2x+k+2

w4

OT}O

10.

o_a

®B 2

3 0

® 1



0°]

o124 k2~ 3x— (k1)

11.

ol

olJ
o8

@ 1 3B 2

3 0



@ -1<m<1

@ m>1

|



oA A 22— x 1

.?_

13.

HA2.

S



14.

= = +hkx A y=x+10] AZ GE F HA
7] 9§tk o M9)=?

D k>2, k<-1 @ k>3, k<-1 @ k>1, k<-1

@ k>3, k<=2 ® k>3, k<-3



el
ol

EE

e

He

= flx) = x* +2x o] A

Sk
=

—2<x<19A o]zt

15.

sholat,

:I]_






17.

D z=1+3i @ z=2+ V3i ® z=3+ V3i
@ 7=1+23i B 7=2+23i



& B Jofojel,

o

FEA -1 =29]



19. |x -2/ +|x-3| = 1& &5t A5 x 9] 5

@ o7 @ 1A ® 274
@ 370 B 4 7o]Ar



J

—_
o

A +2k-1x+4=00°] T2 4EE

T

o1

20.

ol
Tol

N
il

B 2

@ 0

D 1



21.

OIAYA o 4 (m+ D+ m+4=00] S
m ] 3ke] gL Fobu?

A -3 ® 0 3 92 @ 3

S, w

rln

1,
iy



® k<3

@ k<1

@ k<1

B 1<k<3

@ k<3



23. A7t ARl xofl Wit o]x +
ol kof gholl ®AQle] T To= A== Ste 5 a, b2 27

a=0,b=3 ® a=-1,b=2



24. Oo|ZFHAA 2 4 2x +3 =0 9 = E5t7] el LA FA R
T4 (x+a)? =b S AU} o), A4 a, b ol Hate] a-b 2 Fhe
T-stofzt,

Yk
-



OJAPYA A x2 4 ax+b =09 F 0] 2, 3L of, o]

bx+3=0°] F 9§27

25.

Nelpia)

<t 0

[ArRBYa)

[a\ W BYa)

— 0



26. 20 +4x-1=0°F TZ a.pet T W, @’ + ap® O] G127

D -2 2 -1 3 0 @ 1 B 2



27. oA X2 G+ 10 2 B WA A5 & 222
@ (x-6+2i)(x—6-2i0) @ (x=6+i)(x—6-1i)
® (x—3+2i)(x—3-2i) @ (x-3+i)(x-3-i)

® (x=3+2i)(x-3-1i)



28.

PR x2 — 2%kx + k2 -2k -3 =09 F o] BT 25

®—§sk<—1 @_§<k<0
2 2
® -1<k<0 @ -1<k<3

® k<0EX=%>3

Q]
=

o, k






30. oAty =ax® + bx -3 0] x =204 FHYigk 5 & M o, A=
a, b2 & a+b 9 F= 5ozt

S ER
=



31.

—
I/\

o |
Flo
]

x <42 FA @

® 10

f(x) = x®—2x+2 o] At} 2|52k

3 11 @ 12 B 13



32.

5 f(x) = ax? —2ax+b7F -2 < x < 2004 ARG 5, LG 4=
7P o, a+ b9 2?7 (F,a,bE 3501 a<0)

D 1 ® 2 3 3 @ 4 ® 5



33.

ool L

-l> ulo

9

@D -3

]i}—%‘v\—y—x —2x-2 9]

Hgigre

>.

® =2

3 0

xo] W97t 2 < x <2 Y o,

o]



34. WAA 2 -2-3 =09 29 TE Toroiek

v
o



ol
fl

ol

.

OJFFFAHA x* —mx 4 2m + 1

35.

@ 2 ® 0

@D 3



36.

>

Zad
Q]
=

o,

y
L

Ct-
=

L=
—

x2 = 2kx + 2k + 37} xZ7}o] T WA Atole] A7} 25
ko] 7ke] g abolal,



37.

2K y=3x+2 4 ZEA y = x2 + mx+ 3 °] T HollA wtr] 9t
A m o H9IE oY

O m<-1,m>3 @ m<1l,m>5 ® -1<m<3

@ -1<m<5 ® 1<m<5



,]

—ax—i—b-J
=7

=
- A&

oA
=

94



b

%y = (@ =204 3 =20~ 2+ 3) + 1 9] ML Fohol2,
>

L






41.

=29 dol7F 40 cm Q1 FAE2] Wol7h w7t 2 uf, ’HA52] Zo]

9] 2
#e} Wol 5 & Fatolet.

Qe en?

=
ol
=

it



42, EAa5 7o st o3 7] S P AL AS BF I 2H)(H,
7z 9 A HAaFolal 7 £0 ot}

@ z+z2 © zZ © (z-2)2
®1-1 ®:
Z Z Z
ONQ) @ 6,0
® 0.0.6 @ 9.,0.6.@

® Aa.0.0.e .0



43. x=3+2i & o, x? - 6x-10 2] G2 FoHA L

>R
c



44.

O AA ¥ — 10x+ k= 0] F 2] H]7} 2

of gk Astelet,

B
=¥



45. T4 1420 1-28 TOR BHI, 42 9 A%E 18] o] A ALY

D x2-2x-5=0 @ x24+2x+5=0
® ®>+5x+2=0 @ x2-2x+5=0

B 2 -5x+2=0



